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x 40% = 17.6 x 80% = 52.8
x50% =17.5 x 80% = 44
X 90% = 67.5 x 60% = 45
x20% = 3.8 x10% = 5.3
x 10% = 8 x 60% = 51
x 80% = 68.8 x 40% =12
x 60% = 40.8 x 10% =7
x20% = 11.8 x 50% =15
x 10% = 9.8 x 80% = 27.2
x 10% = 8.7 x90% = 17.1
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44 < 40% = 17.6

15 x50% = 7.5

75 X 90% = 67.5

19 x20% = 3.8

80 x 10% = 8

86 x 80% = 68.8

68 x 60% = 40.8

59 x20% = 11.8

98 x 10% = 9.8

87 x 10% = 8.7

Al NGO

66 x 80% = 52.8

55 x 80% = 44

75 x 60% = 45

53 x10% = 5.3

85 x60% = 51

30 x 40% = 12

70 x 10% =7

30 x 50% = 15

34 x 80% = 27.2

19 x90% = 17.1

www.snowmath.com



https://www.snowmath.com

